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Answers

1.   534.591   

2.    712.63   

3.     100     

4.    269.8    

5.    90,430   

6.    571.55   

7.     100     

8.   35,739.8  

9.    1,000    

10.   9,638.8   

11.      10     

12.    264.26   

13.    82,090   

14.    1,000    

15.    550.56   

16.   337,350   

17.   804.967   

18.    1,000    

19.     100     

20.    973.23   

Use decimal multiplication and division rules to fill in the blank.

1)   534.591   ×10 = 5,345.91

2) 71.263×10 =    712.63   

3) 68,115.6÷    100      = 681.156

4) 2,698÷10 =    269.8    

5) 904.3×100 =    90,430   

6)    571.55   ÷10 = 57.155

7) 931.193×    100      = 93,119.3

8)   35,739.8  ÷100 = 357.398

9) 762.84×   1,000     = 762,840

10) 963.88×10 =   9,638.8   

11) 841.1÷     10      = 84.11

12) 2,642.6÷10 =    264.26   

13)    82,090   ÷100 = 820.9

14) 504,400÷   1,000     = 504.4

15) 5,505.6÷10 =    550.56   

16)   337,350   ÷1,000 = 337.35

17) 8,049.67÷10 =   804.967   

18) 787.9×   1,000     = 787,900

19) 776.82×    100      = 77,682

20)    973.23   ×1,000 = 973,230
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